IBERT

@6.4Gbps

PRBS-31

DFE OFF

Equalizer OFF

qOFF

=4$=—0 HUB1 19-Dec-2018_anoDFE&E

WWU v\y%\mw M%M

qOFF

=== HUB1 20-Dec-2018_anoDFE&E

O

g noDFE&EqOFF

-Nov-2018_av,

=&-0HUB1 09:10

=0

=0

e O

Hub1:

=SNO05

Dec& Nov

Hub2:

S/N 09
S/N08

Dec
Nov

IBERT Eye Diagram Open Counts

5,11,10,12,3.13
same except
HTM6 was S/N7

Dec =S/N 9,6,1,17(*),4,8,

HTM 3-14:
Nov

" Taue|TqnHYI0
" paue| T qNHYIO
 Gaue|THTIALH
- paue|THTIALH
- gaue| HTINLH
- Zaue| pTIALH
- Toue|THTIALH
- 0aue| pTIALH
 Gaue| ETIALLH
 paue| ETIALH
| £3UR[TETIALH
Zaue| ETIALLH
- ToueTETIALM
- paue| ETIALH
 Gaue|TZTIALH
 pauR| ZTINLH
- £auR|ZTINLH
- Zaue| ZTINLH
- TauR|TZTINLH
- 09UeTZTIALH
- Gaue| TTIALH
- paue| TTIALH
- gaueTTTIALH
- Zoue| TTIALH
- Taue| TTIALH
- paue| TTIALH
- GaueTOTIALH
| paue|TOTIALH
- gaue| O TIALH
- Zaue| O TINLH
 TauR|TOTINLH
- 09UeTOTIALH
- Gaue| GOWLH
 pauR| GOINLH
- £aue|GOINLH
- zaue| G0INLH
- Taue| GOINLH
- 0aUR|GOINLH
| Gaue|TBOINLH
- paue| 8OWNLH
- £aue| 8ONLH
- Zaue| BOINLH
- Toue|TBOINLH
- 0aue| 8OWNLH
- Gaue|TLOINLH
- paue|”LOINLH
- £aue|TLOINLH
- Zoue|”LOINLH
 Taue|TLOINLH
- 0aue|T£OINLH
 Gaue| g0ALH
- paue| 90NLH
~ £auR|T90INLH
~ Zaue| 90INLH
- Taue| 9QNLH
- paue| 9QNLH
- Gaue|TSOINLH
| paue|TSOINLH
- £9Ue|TSOINLH
- Zaue|TSOINLH
| Taue|TSOINLH
- 0aue| SONLH
- Gaue| pOIALLH
| paue HOIALH

£aue|” FOIALH
| zaue| pOIALH
- Taue| OINLH
- 0aue|” OINLH
- Gaue|TE0INLH
| paue|TEOINLH
- gaue| EQNLH
- Zaue| E0INLH
~ Taue|TEOINLH
- paue| E0INLH

Doy aoy

22000

20000

18000

16000

14000

12000

10000

8000

6000

4000

| 1AqWOD T GNHYIO




IBERT

@6.4Gbps
DFE OFF

PRBS-31
Equalizer OFF

Hubl

qOFF
g noDFE&EQOFF

=SNO05

HTM6 was S/N7

same except

S/N 09
S/N08

Hub2

Dec

Nov

HTM3-14
5,11,10,12,3.13

Dec =S/N 9,6,1,17(*),4,8,

=== H% HUB1 19-Dec-2018_anoDFE&EqOFF
et H% HUB1 20-Dec-2018_anoDFE&E
Hub1:
Dec& Nov
Nov

=@ H% HUB1 09:10-Nov-2018_av

e H%
=il H%
ey H%
e H 9%

" Taue|TqnHYI0
Houcm_lnz_._cuo
Gaue| pTIALLH
- paue| pTIALH
- £aueTHTIANLH
- Zoue| pTIALH
- Toue|THTIALH
- 0aue| HTIALLH
| Gaue|TETIALM
- paue| ETIALH
- gaue| ETINLH
- Zaue|TETINLH
 Taue| ETIALH
- paue| ETIALH
- GaueTZTIALH
~ pauR| ZTINLH
- gaue| ZTIALH
- Zaue| ZTIALH
| Taue| ZTIALH
- 0aue| ZTIALH
- Gaue| TTIALH
- paue| TTIALH
- gaue| TTINLH
- zaue| TTIALH
 Toue|TTTIALM
- 0aue| TTINLH
- Gaue|TOTIALH
| paue|TOTIALH
- £auR|TOTINLH
~ Zaue| O TIALH
- Toue|TOTIALM
- 0aUR|TOTINLH
- Gaue|TBOINLH
- paue| G0INLH
- £aue| GOIALH
- Zoue|T60INLH
- Taue| GOINLH
- 09Ue|TBO0IALH
- Gaue|T8OINLH
 paue| BOIALH
| £9Ue|TBOINLH
- Zaue| BOINLH
- Taue| 8OWNLH
- 0aue| 8OWNLH
- Gaue|TLOINLH
 paue|”£OIALLH
- £aue|TLOINLH
- Zaue|”LOINLH
- Toue|TLOINLH
- 09ue|TLOINLH
| Gaue|T90ALLH
~ paue| 90INLH
- gaue|T90NLH
- zaue| 9QLH
 Taue|T90INLH
- 0aUR|T90INLH
- Gaue| SOALH
- paue|TSOINLH
- £aue|TSOINLH
- Zoue|TSOINLH
- ToUe|TSOINLH
- 0aue| SONLH
- Gaue|TFOINLH
- paue| OINLH
- £aueTpOINLH
- Zoue|TpOINLH
 Taue| HOIALH
— - 09ue|TFOINLH
- Gaue|TEOINLH
- paue| E0NLH
- £9ue|TE0INLH
- Zaue| E0INLH
 Taue| E0IALH
| 09Ue|TEOINLH

\
IBERT Eye Diagram Percentage Open Horizontal

v1\‘ B ' gqWoD qnHYIo

0oy aoy

80
75
70

35

o
o

65
60
55
50
45
40




IBERT

@6.4Gbps

DFE OFF

PRBS-31
Equalizer OFF

Hubl

\_ 7
S

~

4

qOFF

=4#=—\/% HUB1 19-Dec-2018_anoDFE&E

qOFF

=—i==\/% HUB1 20-Dec-2018_anoDFE&E

g noDFE&EqOFF

=®—V% HUB1 09:10-Nov-2018_av.

——
R
—_——

Hub1:

=SNO05

Dec& Nov

Hub2:

=S/N 09

Dec
Nov

S/N 08

IBERT Eye Diagram Percentage Open Vertical

HTM3-14:

5,11,10,12,3.13
same except
HTM6 was S/N7

Dec =5/N 9,6,1,17(*),4,8,

Nov

 Taue|TqNHYIo
" paue|TqnHYIo
| Gaue| pTIALH
- paue| pTIALH
- gaue|TTIALM
- Zaue| HTIALH
| Taue pTINLH
- paue| pTIALH
| GauR|TETIALLH
| pauR| ETIALH
- gaue|TETIALH
- Zaue|TETIALLM
| TaUR|TETIALH
- 03uR|TETIALLH
- Gaue| ZTIALLH
| paue| ZTIALLH
| £aue| ZTIALLH
- Zaue|TZTIALH
 TaUR|TZTIALH
 03UR|"ZTIALH
| Gaue| TTIALLH
- paue| TTIALH
 £auR|TTTIALH
- Zaue| TTIALH
- Taue| TTIALH
- 0aue| TTIALLH
| Gaue|TOTIALLH
- taue| O TIALH
- £aue|TOTIALLH
- Zaue| OTIALH
- Taue| OTIALH
- paue|TOTIALLH
- Gaue| GOIALLH
- paue| GOIALH
| £aue| GOIALH
- Zaue|TBOINLH
- Taue|TGOIALH
- 0auR|TGOWNLH
- Gaue| BOIALLH
| pauR| BOIALH
| £aUR[TBOIALH
| Zaue|TBOIALH
| Taue|T8OWNLH
| 0aue|"BOIALH
| GauR|TLOINLH
| paue|TLOIALH
| £auR|TLOINLH
| Zaue|TLOIALH
| TauR|TLOIALH
- 03UR|T£OIALH
- Gaue|T90IALH
- paue| 90IALH
~ £aue| 90IALH
- Zaue| 90IALH
| Taue|T90IALH
- paue|T90INLH
| GaUR|TGOIALH
- pauR|TSOIALH
- £auR|TSOIALH
| Zaue| GOIALH
| TauR|TSOIALH
- 0aue| SOINLH
| Gaue| pOINLH
- paue| HOIALH
| £auR|THOIALH
- Zaue|TpOINLH
| Taue|TpOINLH
- 03UR|THOIALH
| Gaue|TEQIALH
- taue|TEOWNLH
| gaue| E0INLH
| zaue| E0ILH
- Taue|TEOWNLH
- 0aue|TEQINLH

100y aoy

110

100 -
90

80

70

60

(=
un

- eQqWoD T qNHYIO




IBERT

@6.4Gbps

PRBS-31

DFE OFF

Equalizer OFF

MVWAW

WAZAAL'

== 0 HUB2 19-Dec-2018_anoDFE&EqON

=== 0 HUB2 20-Dec-2018_anoDFE&EqON

w0

g noDFE&EQOFF

=0 HUB2 09:10-Nov-2018_av

—t—0

i O

s e O)

Hub1:

=SNO05

Dec& Nov

Hub2:

S/N 09
S/N08

Dec
Nov

IBERT Eye Diagram Open Counts

HTM 3-14:

5,11,10,12,3.13
same except
HTM6 was S/N7

Dec =S/N 9,6,1,17(*),4,8,

Nov

| Taue| qnHYIO
" paue| T qNHYIO
- Gaue| pTIALM
 paue| pTIALH
| gaue| pTIALH
- Zaue| HTINLH
| Toue|THTIALH
- 0aue| pTIALH
| GaueTETIALH
| paue|TETIALH
- gaue| ETINLH
| Zoue|TETIALH
| TouRTETIALM
| 09ueTETIALH
- Gaue| ZTIALH
| paue|TZTIALH
| £aueTZTIALH
| Zoue|TZTIALH
- Taue| ZTIALH
| 09ueTZTIALH
 Gaue| TTINLH
 paue| TTIALH
| gaue| TTIALH
- Zaue| TTINLH
- Taue| TTIALH
- paue| TTIALH
| GaueTOTIALH
| paue|TOTIALH
- gaue| O TIALH
| Zoue|TOTIALH
| ToueTOTIALH
| 09UeTOTIALH
- Gaue| GOWLH
| paue|T60INLH
| £aue|TB0INLH
- zaue| GOINLH
- Taue| GOINLH
- 09ue|TBOINLH
| Gaue|TBOINLH
- paue| 8OWNLH
| £aUe"BOWLH
Zaue| gOIALLH
- Taue| 8ONLH
- 0aue| 8OWALH
| Gaue|TLOINLH
| paue|TLOINLH
| £aue|TLOINLH
- Zaue|”LOINLH
| Taue|TLOINLH
- 0due|TLOINLH
~ Gaue| 9oL
| paue|T90NLH
| £aueT90INLH
- zaue| 9QLH
- Taue| T 90NLH
| 0aueT90INLH
| Gaue|TSOINLH
- paue| SOWNLH
| £aUe|SOWLH
Zaue| SONLH
| Taue| SONLH
~ 0auR|TGOINLH
| Gaue|TpOINLH
| paue|TpOINLH
- gaue| OINLH
- Zaue|TpOINLH
| Toue|THOINLH
- 09Ue|TFOINLH
~ Gaue| EQWALH
| paue|TE0INLH
| £aueTEOINLH
- zaue| EQINLH
- Taue| E0NLH
| 0aueTEOINLH

o oy qoy

22000

20000 -

18000

16000

14000

12000

10000

8000

6000

4000

- QWO qNHYIO




IBERT

@6.4Gbps
PRBS-31

Hub?2

DFE OFF

Equalizer OFF

g noDFE&EqOFF

w———=H% HUB2 09:10-Nov-2018_av,

——H%

=SNO05
same except
HTM6 was S/N7

S/N 09
S/N08

Hub2

Dec

Nov

HTM3-14
5,11,10,12,3.13

Dec =S/N 9,6,1,17(*),4,8,

=f=H% HUB2 19-Dec-2018_anoDFE&EqON
== H% HUB2 20-Dec-2018_anoDFE&EqQON
Hub1:
Dec& Nov
Nov

e H %
i H %
—f—H%

" Taue|TqnHYyI0
" paue| qnNHYIO
- Gaue| HTINLH
- paue| pTIALH
| £aueTHTIALH
| zaue| pTIALH
 Taue| HTIALH
- 0dueTHTIANLH
 Gaue|TETINLH
- paue| ETIALH
- £aue| ETIALH
| Zoue|TETIALH
 Taue| ETIALH
 Daue| ETIALH
| Gaue|TZTIALH
 pauR| ZTINLH
- £aue| ZTIALH
| Zaue|TZTIALH
| ToueTZTIALH
 paue| ZTIALH
| Gaue|TTTIALH
| paue| TTIALH
- gaue| TTIALLH
- zaue| TTIALH
- ToueTTTIALH
- 09ueTTTIALH
 gaue| O TIALH
| paue|TOTIALH
| £aueTOTIALH
- Zaue| OTIALH
- Taue| OTIALH
| 09ueTOTIALH
| Gaue|TBOINLH
 paue| GOIALH
| £aue|TOINLH
| Zoue|T60INLH
- Taue| GOINLH
~ 0aue| GOIALH
| Gaue|T8OINLH
| paue|T8OINLH
 gaue| BOILH
| Zoue|"8OINLH
| Toue|TBOINLH
- 0aue| 8OWNLH
 GauR|£OINLH
| paue|TLOINLH
| £aue|TLOINLH
| zaue|£OALH
| Taue|TLOINLH
 0aUR|£OINLH
- Gaue| 9QLH
| paue|T90NLH
| £aue|T90INLH
- zaue| 9QLH
| Taue|T90ALLH
| 09ueT90INLH
° | Gaue| GOIALH
— = | paue|TSOINLH
- | £aue|TSOINLH
| Zaue|TSOINLH
| Toue|TSOINLH
| 0aue|TSOILH
| Gaue|TpOINLH
, | paue|TpOINLH
- £aue| FOINLH
| Zaue|TpOINLH
| Toue|THOINLH
| 09Ue|TFOINLH
| Gaue| E0IALH
| paue|TE0INLH
- gaue| E0NLH
- Zaue| E0WALH
| Toue|TEOINLH
- 0aue| E0INLH
| 1AqUODTGNHO
PO~ oY - aoy

IBERT Eye Diagram Percentage Open Horizontal

80
75

70
60 -
50

(=
o

65
55
45
40
35




IBERT

@6.4Gbps

PRBS-31

Hub?2

L
e
O
Ll
L
(]

Equalizer OFF

qON

=f—\/% HUB2 19-Dec-2018_anoDFE&E

qON

=r=\/% HUB2 20-Dec-2018_anoDFE&E

*

g noDFE&EqOFF

w———\/% HUB2 09:10-Nov-2018_av

*
*

Hub1:

=SNO05

Dec& Nov

Hub2:

=S/N 09

Dec
Nov

S/N 08

IBERT Eye Diagram Percentage Open Vertical

5,11,10,12,3.13
same except
HTM6 was S/N7

Dec =S/N 9,6,1,17(*),4,8,

HTM 3-14:
Nov

| Taue| T qNHYIo
" paue| qnHYIo
| Gaue| pTIALH
- paue| HTIALH
 £aUR|THTIALH
- Zaue| HTIALH
| Taue pTINLH
| 0aue| HTIALLH
| GauR|TETIALLH
- paue| ETIALLH
- gaue|TETIALM
| ZaUR|TETIALH
| TaUR|TETIALH
- 0auR|TETIALH
- Gaue| ZTIALLH
| paue| ZTIALH
| £UR[TZTIALH
- Zaue|TZTIALH
| TauR|TZTIALM
| 0aue| ZTIALLH
- Gaue| TTIALH
- paue| TTIALH
 £aUR|TTTIALH
| Zaue| TTIALH
C Taue|TTTIALM
- 09Ue| T TTIALH
| GauR|TOTIALLH
- paue| OTIALLH
- gaue|TOTIALM
- Zaue| OTIALH
| TauR|TOTIALH
- 0aUR|TOTIALH
| Gaue| GOINLH
| paue| GOIALH
- £aUR|THOINLH
- Zaue|TBOINLH
- TauR| GOIALH
- 03ue| GOIALH
| Gaue| BOWLH
| paue| BOINLH
| £9UR[TBOIALH
| Zaue| BOIALH
| Taue|TBOWNLH
- 09UR|"BOIALH
| GauR|TLOIALH
| paue|” LOWLH
| gaue|”ZOINLH
| Zaue|TLOIALH
| Taue|TLOWLH
| 03UR|TLOIALH
| Gaue|T9QALH
| paue| 90IALH
- £aue|T90NLH
- Zaue|T90IALH
| Taue|T90IALH
- 03ue|T90IALH
| GauR|TSOIALLH
| paue| SOINLH
| gaue| GOINLH
- Zaue|TSOIALLH
| TauR|TGOIALH
- 03UR|TSOIALH
| Gaue| T pOIALLH
- paue| HOIALH
| £auR|THOINLH
- Zaue| HOIALH
| Taue|TpOINLH
- 0auR|TpOINLH
- GauR|TEQIALH
| paue| EOIALH
- £aue| EOIALH
| zaue| E0ILH
| Taue|TEQIALH
- 0aUR|TEQWNLH

100y aoy

110

100 -

90

80

70

60

(=
un

 12QqWOD T qNHYIO




